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Introduction:  In the present times, with all the information transfer on Internet and wireless, data security is being compromised.  All the institutions, governments, bio and other industries are heavily concerned about the data and individual security. While there is nothing absolute security, several methods are being devised to protect the data and information security.  Some of the methodologies are:  Data Encryption Schemes [DES], where mathematical process takes the base information through iterations to modify the content; Stegenography Schemes, where in the digital scenario, some bits of information are randomly replaced by the data elements and mask the information in a big digital platform;  Dynamic codining Schemes, where the number codes of characters are dynamically changed and the modified information is being communicated; and several such schemes.  In all these methodologies, the reverse key should be available for the proper individuals to be able to decode and obtain the original message.  To protect the nature of the data security, whatever methodology is being followed, should be made dynamic, so that it would not be broken.

Data security is becoming increasingly demanding activity in all the fileds of human existance.  Here is a sample of dynamic coding scheme: 

// Data Security: Dynamic coding:  Chaps 6-9 and 10
[bookmark: _GoBack] // Deitel/Subbarao  EEL 2880: Modified 10 02 2018
#include <stdio.h>
#include <stdlib.h>
#include <ctype.h>
#include <string.h>

int main()
{
	char s[ 100 ]; // define character array of size 100
	size_t i; // loop counter
	puts( "\n\a Data Security: Chps 6-9; Dynamic coding:\n " );
	puts( "\n\a Deitel/Subbarao  EEL 2880  F 2014  10 21 2014  \n " );

 // use gets to get text from user
	puts( "Enter a line of text: \a\n" );
	fgets( s, 100, stdin );
    puts( "\n\aThe line in uppercase is: \n" );

 // convert each character to ASCII uppercase and output
	for ( i = 0; s[ i ] != '\0'; ++i )
	{
	 printf( "%c", toupper( s[ i ]) );
	} // end for Uppercase characters

    puts("\n upper case ASCII code for  the characters \n");
	for ( i = 0; s[ i ] != '\0'; ++i )
	{
    	 printf(" %c:%d",toupper(s[ i ]),toupper(s[ i ]));
	} // end for  Uppercase ASCII

	// convert each character to modified ASCII uppercase and output
	puts( "\n\aThe line in modified uppercase with progressively higher ASCII:\n" );
 for ( i = 0; s[ i ] != '\0'; ++i )
	{
	 printf( "%c", toupper( s[ i ] + (i+1)) );
	} // end for modified Uppercase characters

    puts("");
    printf( " \n Uppercase modified  ASCII code for the entered string \n\n\a");
 for ( i = 0; s[ i ] != '\0'; ++i )
	{
    	 printf( " %c:%d",toupper(s[ i ] + (i+1)),toupper(s[ i ] +(i+1)));
	} // end for  modified Uppercase ASCII code

 printf( " \n\n Lower case for the entered string \n\n\a");
 for ( i = 0; s[ i ] != '\0'; ++i )
	{
 		printf( "%c",tolower (s[ i ]));
	} // end for  Lowercase ASCII

 printf( " \n  Lower case ASCII for the entered string \n\n\a");
 for ( i = 0; s[ i ] != '\0'; ++i )
	{
 		printf( " %c:%d",tolower( s[ i ]),tolower( s[ i ]));
	} // end for Lowercase ASCII

printf( " \n  modified Lower case ASCII for the entered string \n\n\a");
for ( i = 0; s[ i ] != '\0'; ++i )
	{
 		printf( " %c:%d", tolower ( s[ i ] - (i+1)),tolower( s[ i ] - (i+1)));
	} // end for modified Lowercase ASCII

	// convert each character to modified ASCII uppercase and output
	puts( "\n\aThe line in modified lowercase with progressively lower ASCII:\n" );
 for ( i = 0; s[ i ] != '\0'; ++i )
	{
	 printf( "%c", tolower( s[ i ] - (i+1)) );
	} // end for modified lower characters
    puts("");

 printf( "\n \a\t The final value of loop variable 'i' is:%d\n", i);
 puts( "" );

 } // end main
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